Oppgave: Oppvarming - Binzr addisjon

1_ 11
110
+ 111
= 1101
2. 11
+ 10
3 111
+ 11
n 100
+ 111

Oppgave

1 11001
+ 1100
9 10101
+ 1100
3 111
+ 11000
n 100
+ 10010

(W]

=1

o

-1

100

+ 11
111

+ 101
110

+ 1
1

+ 10
10110

+ 1000
1101

+ 101
11011

+ 10101
1101

+ 11011

10.

11.

10.

11.

111

+ 11
100

+ 101
11

+ 1
111

+ 111
10010

+ 10010
11110

+ 1011
1110

+ 1111
101

+ 11011




b

b

110
111

1101

11
10

101

111
11

1010

100
111

1011

11001
1100

100101

10101
1100

100001

111
11000

11111

100
10010

10110

o

o

Fasit

100
11

111

111
101

1100

110

111

10

11

10110
1000

11110

1101
101

10010

11011
10101

110000

1101
11011

101000

10.

11.

10.

11.

111
11

1010

100
101

1001

11

100

111
111

1110

10010
10010

100100

11110
1011

101001

1110
1111

11101

101
11011

100000




